H & 0l & AHS B Ml A

FA A=
M MRSALH
oelr 2 2 OAIEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A =R 17,999,947 16,510,214 1,489,733
= 2,884,015
[ 1,241,300
= 1,868,563
Al 12,006,069
SEEFxry 6,275,236 3,830,398 2,444,838
= 138,000
[ 1,241,300
= 671,299
Al 4,224,637
S 2 AEAEY 3,846,505 2,940,679 905,826
= 138,000
= 1,241,300
= 516,942
Al 1,950,263
AL 125,400 177,000 /51,600
203 =4l 3,000 3,000 0
03 A=A H R S| 3,000 3,000 0
O4tE R AR 3,000
206 M=Hl 2,000 2,000
01 MHZH| 2,000 2,000
OXHT (AHEHl, 77 S) 2,000
401 Al HIZ 2018 120,400 172,000 A51,600
01 A&l 120,090 71,136 A51,046
OYE NES Hyl S RABL
140, 0002 *130km*22] 36,400
OLHISIIEAIE R2ZNEAS (A2 8l
2 HBALY) 84,000,000 *99.63% 83,690
03 Al 20HHI 310 864 A\554
OYLYAALAIIBAIL TEHZAIL (A7 0
2 HZA) 310
LS AI S (MEAE) (XXM AR ) (B EALY) 693,276 558,862 134,414
= 485,293
Al 207,983
101 21A4H| 15,776 15,392 384
s 11,043
Al 4,733
M ORNZZ2NSE S 15,776 15,392 384
Ogczela(2Y) 16,776
[ 11,043
Al 4,733
401 Al HIZ 2018 677,500 543,470 134,030
= 474,250




SA ARSI
M ASATY
oelr 2 2 OAIEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 203,250
01 AlZH] 672,501 539,524 132,977
OYTAIE (RHAST 1.0kn)
270,000,0002%99.28% 268,056
= 187,640
Al 80,416
O = ZIH2H(5km) 340,000, 0008 %99, 2% 337,552
= 236,286
Al 101,266
O & 224 (13km) 67,500,00024%99. 1% 66,893
== 46,825
Al 20,068
NP=E 4,99 3,946 1,053
O AIM (AT 1.0kn)
270,000,00020.72% 1,044
= 1,360
Al 584
O =N (5km) 340,000, 0002 0. 72% 2,448
== 1,714
Al 734
O &2 2= (13m) 607
= 425
Al 182
INEIDNe 588,939 490,000 98,939
401 AlEHIL S OHHI 588,939 490,000 98,939
01 Al&ZH] 584,439 486,940 97,49
OMED TS HHAIY
175,000 *4007=+99. 1% 69,370
OAFAFHOI A T2 AFEEALY
300,000,0002%99.28% 297,840
OMAERH A XIS SXIZH2I ALY 161,000
OB YAE SF I|E SAY(F0IE
O 0l &F) 56,229
NP=E 4,500 3,060 1,440
OMEA THHSAS MHAIY STH|
250,000 *400%=+0.90% 900
OALLAIEHOIE A2 AFZEALY S OHHI
500,000, 00024 %0.72% 3,600
AFZALS (A 22 E3) 458,278 510,534 AB2,256
308 XIXIEHHISOI® 458,278 510,534 52,256
07 XX S22 458,278 510,534 52,256
OHFZEH EIYHEI} AZREYS 1,059
OAe EIZSTI AIZRES 4,235
Olinope| EIZ8EIL AIZRE3 810
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FA A=
M MRSALH
oelr 2 2 OAIEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 532,500
01 AlZ2H| 1,765,365 1,111,684 653,681
O ME(AH AT km)
759,300,000 *99.37% 754,517
[ 531,300
Al 223,217
Obt= 83+ & (3km)
1,014,500,000& *99.64% 1,010,848
= 710,000
Al 300,848
03 AIESTHYI 8,435 4,016 4,419
OYEAE (AH AT 3km)
759,300,000& %0.63% 4,784
Ott= T3+ & (3km)
1,014,000, 0002 +0.36% 3,651
ASAIH (EX) 160,958 28,700 132,258
= 119,658
< 12,390
Al 28,910
401 Al HIZL 01| 160,958 28,700 132,258
= 119,658
== 12,390
Al 28,910
01 Al&HI 160,3%4 28,700 131,694
OLTAIEY LKA AENZEAH(118IHA) 82,600
= 41,300
=S 12,390
Al 28,910
020234 A ES I SAXEALS
78,358,000 *99.28% 77,794
= 77,7%
03 A& S CHYI 564 0 564
020234 A ES I SAXALY 564
= 564
ahX2el 65,130 35,130 30,000
SR 22 E 35,130 35,130
201 et 3| 35,130 35,130
01 AtR2te|Hl 35,130 356,130
O= 2| 7,000
Oggt=3=H| 25,000
OIAIEIF IS NI 8?33 flaEs+d 980
Ox=ZY HIHEX(EE) 282 2,000
Os7ME A7 018SI| =& 150
SIS EX S E A A SALKIRA) 8,000 0 8,000




FA A=
M MRSALH
=4 PN R f=) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 8,000 8,000
01 At2teltl 8,000 8,000
OSHMSSHEHAIA S LA 8,000
SHIOISRHAE RS2 22,000 22,000
401 AIZHIX S0 22,000 22,000
01 AlZH| 22,000 22,000
OLEES 7S HEHIE At XA
22,000,000 *13] 22,000
dELANLES 2,363,601 854,589 1,509,012
< 154,357
Al 2,209,244
=2Ad e 2,070,000 456,000 1,614,000
401 Al HIZL 2048 2,070,000 456,000 1,614,000
01 Al&H| 2,069,370 455,100 1,614,270
oStttz 2 & A2l
70,000,000 %99. 1% 69,370
OuEL =2 BASAY 2,000,000
03 Al 20HHI 630 900 A270
oStz B+ & |X2cl 0l
70,000,000 0. %% 630
=2 H2e(A2)(HEAY) 200,000 200,000 0
= 100,000
Al 100,000
401 AIEHIX SO 200,000 200,000 0
= 100,000
Al 100,000
01 AlZ2H| 198,560 198,560 0
O=Zx g2l (4n)
50,000,000 *4km*99. 28% 198,560
== 99,280
Al 99,280
03 Al 20HHI 1,440 1,440 0
O=Z =gzl (4km) 2O
50,000, 000& *4km*0.72% 1,440
= 720
Al 720
AEMHIAE RO 2SR (EX)(HEAY) 75,079 66,545 8,534
== 48,801
Al 26,278
101 eI124d| 73,579 65,045 8,534
< 47,826
Al 25,753
M ORIMZZ2NSE S 73,579 65,045 8,534
O=2Z SAXTAH1E) 24,526




2A:

A =R
M MRBALH
Rl MEFEANEES (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,942
Al 8,584
Osdeize|e(1g) 24,526
= 15,942
Al 8,584
O AlIsX2el (1) 24,527
== 15,942
Al 8,585
206 M=l 1,500 1,500 0
= 975
Al 525
01 MZH| 1,500 1,500 0
O=Zd St AL =7 500
= 325
Al 175
Ozdef2ele e+ 500
== 325
Al 175
OZAIsXZeld e+ 500
= 325
Al 175
sARtel BE(EX) 18,522 37,044 N18,522
= 5,55
Al 12,966
101 21AH| 18,522 37,044 18,522
== 5,55
Al 12,966
M ORNZZ2NSE S 18,522 37,044 A18,522
Osdei2tele(1g) 18,522
= 5,556
Al 12,966
MEHES 2,744,264 2,967,965 N223,701
= 534,140
= 362,635
Al 1,857,489
=== NN B 2,373,443 2,320,577 52,866
= 388,352
= 312,890
Al 1,672,201
A= RICH 2 124,350 121,350 3,000
201 er2&| 121,350 121,350 0
01 At2teltl 99,350 99,350 0
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FA A=
B peEs
Rl MEYXITHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,080
=S 3,186
Al 7,434
01 AtR2t2|HI 10,500 12,500 22,000
OdtE RZAIPHICH S XIE==(3CH) 6,000
= 2,400
= 1,080
Al 2,520
OLEAE R0 AHEM (LX) 4,500
= 1,800
= 810
Al 1,890
02 S3=gHl 7,200 7,200 0
OLEAE R AEMNH(FFHI) 7,200
= 2,880
= 1,296
Al 3,024
MEXSHA 7= & 2S(ANHBYEX)(EX) 42,160 27,465 14,695
= 16,864
= 7,589
Al 17,707
201 er2 3| 34,160 20,065 14,09%
= 13,664
= 6,149
Al 14,347
01 At2teltl 34,160 20,065 14,095
OdtEdal A 7,260
= 2,904
< 1,307
Al 3,049
Ol &SHAHl & (690H) 26,900
= 10,760
< 4,842
Al 11,298
202 04l 4,000 3,400 600
= 1,600
< 720
Al 1,680
01 SLHoIH 4,000 3,400 600
Odt=dst 250 4,000
= 1,600
== 720
Al 1,680
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FA AE=s
B peEs
el AEEoiE 2 (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 2,357
Ozl L ZH(10ha) 1,839
= 960
= 260
Al 619
OZAINON0IE LB XA (1ha) 249
= 125
= 37
Al 87
OZAINOH0IZ K& R (25ha) 3,661
= 1,931
= 191
Al 1,539
OZ0H0I XI&HZHI(10ha) 1,817
= 991
= 248
Al 578
Onl=dEZ A (5ha) 920
= 480
= 132
Al 308
OJIEtiE 2HI(10ha) 1,840
= 960
= 264
Al 616
OJIEHd ZHI(10ha) 10,099
= 5,049
= 1,515
Al 3,535
A THOH L Kt EOI(ASHHSO LM ) (RIXHHME 99,737 97,620 2,117
&)(2%)
= 49,868
= 14,961
Al 34,908
101 @124H| 85,559 83,449 2,110
= 42,779
= 12,834
Al 29,946
M ORINZZE2NSE S 85,559 83,449 2,110
Ot SHZLME AR (49) 85,559
= 42,779
[ 12,834
Al 29,946
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FA A=
B peEs
=Rl AE g S 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 9,505 9,500 5
= 4,753
== 1,425
Al 3,327
01 At22telt] 8,505 8,500 5
OUZLN RS XY A S 8,505
= 4,253
=S 1,275
Al 2,977
02 S52g4l 1,000 1,000 0
OUZLN H2E XY =8 S 1,000
= 500
=S 150
Al 350
206 M=Hl 4,673 4,671 2
= 2,336
=S 702
Al 1,635
01 M=8l 4,673 4,671 2
Ogais LM =fHl 7 4,673
= 2,336
= 702
Al 1,635
AHETHOH L Kt EOI(ASHHS O = LI (XXM X 2,606 2,606 0
=)(2%)
= 1,303
= 391
Al 912
206 M=l 2,606 2,606 0
= 1,303
= 391
Al 912
01 M=4l 2,606 2,606 0
OgNEtl S - 2,606
= 1,303
= 391
Al 912
=s 2ol ¥ = &dl 90,000 120,000 30,000
401 AlZHIZ 01| 90,000 120,000 /30,000
01 A28l 89,370 119,100 N29,730
254 & A 4588 i # &
TEA 70,000,000 *141%99. 10% 69,370
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FA A=
B peEs
=Rl AE g S 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2E LS0i2 254 =9 A% ZUIZAK
FOIEO0IAH) 20,000
03 Al =2 0HHI 630 900 A270
OE54 o Liis 4S8 K L
ZH AR 2O
70,000, 0002 *141%0.90% 630
SE&2el(ZH EX) 26,550 96,600 A70,050
< 7,965
Al 18,585
401 Al HIZL S 0HYI 26,550 96,600 A70,050
S 7,965
Al 18,585
01 Al&HI 26,550 96,600 A70,050
Es2el(52)
5,310,0008 25 =52 26,550
= 7,965
Al 18,585
ALIEHEEE 2 77,378 102,943 N\25,565
= 56,961
= 6,125
Al 14,292
401 AIEHIX R0 77,378 102,943 A25,565
= 56,961
= 6,125
Al 14,292
01 Al&H| 77,378 101,911 N\24,533
OTloi DA EHAI(102) 986
= 690
S 89
Al 207
OMEEY L= AHE R (400=) 43,391
= 30,374
< 3,905
Al 9.112
O LIZ=FAL XA, HZ2HH, Fel
UM S(17ha) 24,041
= 19,625
S 1,325
Al 3,091
OEZHLI=Z =T (16004) 8,960
= 6,272
S 806
Al 1,882
SHOIS & MHHFY 48,436 170,196 121,760
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FA A=
B pegs
ol SHolE & MEsY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 24,218
=S 7,266
Al 16,952
SN=& dZ2c 26,706 26,706 0
= 13,353
= 4,006
Al 9,347
401 AIZHIX S0HH 26,706 26,706 0
= 13,353
= 4,006
Al 9,347
01 Al&H| 26,706 26,706 0
O=M==& FZ=2tel(100ha) 26,706
= 13,353
< 4,006
Al 9,347
SMH==2tA & g2 £X 1,730 1,730 0
= 865
< 260
Al 605
401 Al HIZL 201 1,730 1,730 0
= 865
== 260
Al 605
01 Al&HI 1,730 1,730 0
O=M===tXl s& Y2t &X| 1,730
= 865
=S 260
Al 605
ety SHaL 20,000 20,000 0
= 10,000
= 3,000
Al 7,000
301 EetE NS 20,000 20,000 0
= 10,000
= 3,000
Al 7,000
14 DBt 2 a3 20,000 20,000 0
Ozled S+ X2 20,000
= 10,000
= 3,000
Al 7,000
=MEAEY 2,812,361 2,206,416 605,945




A AE=sIID
M =MCATA
=l Z2EAIXE EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ZEAES 2,812,361 1,916,416 895,945
28 2 II2EE XY 2,812,361 1,916,416 895,945
101 eI t| 496,991 580,056 83,065
M IIRINZ2Z2XsSEs 496,991 580,056 A\83,065
OYRE ZRMA B Q1LA(NH) 82,677
Jl2a 78,8802 x4 x 183 57,741
FERgsY 78,8803 x4 x52 16,408
A2 74,149,000& % 11.5% 8,528
OYRE ZQMA BX 012 (£Al) 26,505
JlE3 78,8802 122 x3H +83| 22,718
FEsdsY 78,8802 2L «3H 83 3,787
O2RE &E2d L Ald2S2e| 1R 20,670
JlE232 78,830+ 1H x183 14,436
reEsgdrY 78,8302 * 1«52 4,102
A2 18,538,000 *11. 5% 2,132
ONSH QA0S % B2I(4S,ALE) ¢
2 20,670
2= 78,830 *1H x183 14,436
reEsgdrY 78,8302 * 1«52 4,102
AUHEE 18,538,000 *11. 5% 2,132
Osd Ji124 JHI(EX, 82 4 &2
H elga) 80,103
2=
208,600 3 x6H #4224 *13|x 1601 SH 80,103
O=d4 el X Mg(nF)elfY 177,699
JlE2=s 208,600 x4H x 150! 125,160
ReEsdsY 208,600 x4 41 34,21
A0S E 159,371,000 *11.5% 18,328
OxZs el R4= Xel oY 41,339
JlE2a 78,8802 x2ZH x183 28,871
. fE8YLT 78, 88021225522 8,204
4= 37,075,00024%11.5% 4,264
OB HUEY oY
78,8802 * 15 20 23| 47,328
201 Lt | 65,800 62,640 3,160
01 At 22|l 41,400 38,240 3,160
OZHX ZLX CHHZHE HH|
200,000 =109 2 2,000
O=xg4 22| Zuldxgi(2del)
590,000& *60CH 35,400
O=sXZelgdR =80 HE 235 +L 1,500
O=2t| 2,500
2 S=29| 24,400 24,400 0
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SA A=
Y sMEAIZRY
=2l Z2EAIXE (CH9: &S1)
. = SIE]
SN - HE - S9I(E) - HIRAY - BAS o & e HIDS2
ORz BZRS(HI], =&)
200,000 * 122 2,400
OHSd 2TUE = 3328, +=5)
300,0002 122 3,600
OT4% 8|2 BBRB(MI, £5)
200,000 * 122 2,400
OXZAIE 2| (4l) F=RrU3
1,000,000& * 12& 12,000
OZXZAE 24U NSIESE It
500,000 4CH 2,000
OZXZAIE HHI(ESH, 2401) | 22l
1,000,000 *2CH 2,000
206 =4l 650,720 185,720 495,000
01 MZH| 650,720 185,720 495,000
OYRE 22| IHPY (AR HIZ, 5017 S
) 20,0002 2700k 5,400
OgdRY 2R Y 257 AY
1,64024%3,000 2 4,920
O8I BOHK B2l WM (HIZ, S £)7
& 20,0002 = 180K 3,600
OFgM, E7FH, 258M S gAE 2R
= 300&+90,000= 27,000
OHEE =3t7 M4 NMH(EL ZE S) +
=t 4,500,000 *42] 18,000
024 S ZAX IH(SF S) 7
600,000& 102 6,000
OJ}E4 2 TN BHIXH(H, S, B
s) 7¢ 1,000,0002 *10& 10,000
OJ2= L ZHX 22X (A, Edl) 2
o 1,000,0002!* 1024 10,000
O BOX AR 22, 22 7Y
3,000,000& 42 12,000
ORdd RHA 4 22NN (S, P=E
b, Hig & )7 2,500,000 43 10,000
ORd ZO2I(4Hx) ANE 28 7Y
2,000,000& x4 A-+23] 16,000
OESa QAR = 2l Xl (=2, AHH)+
& 20,0002 = 180K 3,600
Odldits 22X X (2AH H= S)
-8 10,0002 x105+72H 7,200
OJtZ2+ dolls 2l 2K 2
100,000 » 1203 12,000
O=XtH & Jt=stet HHIXH (R, S, & X0t
?S) 7Y 1,000,000& 10 10,000
OZZ EiEd MHEH(ZR ) 495,000
=208 2302 *150,000= 34,500
=278 3,500 +3,000= 10,500
- 2B 6002 *500,000=2 300,000

_16_




SA A=
I =M A|EA
=7l REAES k=)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
- 22 10,000& *12,000= 120,000
CHE, 32 S 30,000,000 *14] 30,000
401 AIZHIX 20 1,598,850 1,118,000 480,850
01 AlZ2H| 1,592,577 1,113,626 478,951
OE4=z eJId 28 AY
10,000,000 * 14! 10,000
OLdEH 2 gAML
30,000,000 *98.92% 29,676
OOSE2lLLT Ealls SMA
15,000,000& *12] 15,000
O=2H JiZ2&d FHIAME
188,850,000 *99.28% 187,491
0022 FHIAN (20H4)
15,000, 000%17H A 15,000
OZ2, sttt =X FX2A2IAY
500,000,000 *99.37% 496,850
OFQ8Al SES2H & ASAY 500,000
OAIDHAl Jt23tet EHIAHY 30,000
OYRY AN (RN, H2 S)
200,000,000 *99. 28% 198,560
O=F2F 0ol & 110,000
- ot 40,000
-LHel0iESASE JtEde MEX & Ehl 40,000
2EH 20,000
- S F=H HSUS AN 20,000
- 20,000
-ADI0S &7 SE ZESA 20,000
S 30,000
-At=0E ALRSA A 30,000
03 AIZSTHYI 6,273 4,374 1,899
O3 ZHX ZdAME 20U
30,000,000 *1.08% 324
OE=2H JI28d JHIAr 20l 1,359
OZ2, sttt =Xl FX2A2IAS
500,000, 000&+0.63% 3,150
ORH AL (HAU, X2 S)
200,000,0002 *0.72% 1,440
MEASSH 4,817,826 6,163,430 1,345,604
= 2,211,875
== 844,629
Al 1,761,322
tEsy 3,356,414 4,348,481 A992,067
= 1,659,171
= 507,673
Al 1,189,570




2L ARSI
NI AMRASEH
SRl AR A (S &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
HHM=IIRI|(EX) 2,106,916 2,372,462 265,546
=2 1,053,457
[ 316,037
Al 737,422
401 Al HI L 20| 2,106,916 2,372,462 N265,546
= 1,053,457
< 316,037
Al 737,422
01 Al&HI 2,09, 193 2,361,063 N264,870
OZ&XIJtRI|(750na)
1,301,760,00024 %99, 64% 1,297,074
= 648,537
[ 194,561
Al 453,976
OO ILIRIH D] (212ha)
367,964,0002 *99. 28% 365,315
=2 182,657
(= 54,797
Al 127,861
O2U2I+327((30na) 52,071,0002%99. 1% 51,603
= 25,801
(= 7,741
Al 18,061
O/r20)1 =121 (80ha)
303,760,000 99. 28% 301,573
=2 150,786
(= 45,237
Al 105,550
O&t24-!(30ha) 81,360,0002199. 1% 80,628
=2 40,314
(= 12,094
Al 28,220
03 Al CHYI 10,723 11,39 1676
OZE IR 20y 4,686
=2 2,343
(= 703
Al 1,640
OORILIRIIRI| 204 2,649
=2 1,325
(= 397
Al 927
O2LHRItRI| 20l 469
= 234
(= 70




FA A=
mu: pARIASE(
o7l AESd (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 165
O4r20e=0t20] F0HI 2,187
= 1,004
= 327
Al 766
Otte=4& 20l 732
= 366
= 110
Al 256
S3AE IR (MRS HAHZ) 224,889 235,278 210,389
= 114,445
= 33,134
Al 77,310
101 @124H| 199,545 226,718 N27,173
= 101,773
= 29,332
Al 68,440
M OIRINZZ2NSE S 199,545 226,718 N2T 73
OFIRII XA ZALEH(3E) 73,230
= 36,615
< 10,985
Al 25,630
O=IHIIHEES ArEEH(5H) 122,315
= 61,158
[ 18,347
Al 42,810
O=JHI|l A2 AN WFH| 1,500
= 1,500
O=IHUIIHEE ArdE W=H| 2,500
= 2,500
201 =3 12,500 1,800 10,700
= 6,250
= 1,875
Al 4,375
01 AtR2t2lHl 11,500 1,800 9,700
=PI A EAME =8 AMRES 7Y 1,500
= 750
= 225
Al 525
O=IIIIHEE €28 U & I
Xt 10,000
= 5,000
= 1,500




FA A=
mu: pARIASE(
Chel: AT =R
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,500
02 S3=gHl 1,000 0 1,000
O FIIHESE MEE |RFHl S 1,000
= 500
= 150
Al 350
202 04| 4,000 4,000 0
= 2,000
= 600
Al 1,400
01 2L AL 4,000 4,000 0
=IPI|IIHESE ME X & 25 4,000
= 2,000
= 600
Al 1,400
206 MH=H| 8,844 2,760 6,084
= 4,422
= 1,327
Al 3,095
01 MZH| 8,844 2,760 6,084
O=HUIIHEE AlgH =M= 2t 23
=y 8,844
2 4,42
= 1,327
Al 3,095
e 5,000 5,000 0
201 er23| 5,000 5,000
01 AtR2te|HI 3,000 3,000
OMSLEA A 3,000
02 s3=gHl 2,000 2,000 0
O NHFTEAMNY FHE IS 7F7T
ol 2,000
B2 )| (2X) 108,480 89,49 18,986
2 54,240
= 16,272
Al 37,968
401 AlEHIZL SO 108,480 89,494 18,986
= 54,240
=S 16,272
Al 37,968
01 AlZ28| 107,699 88,688 19,011
O3 =IHRI((40ha) 107,699
= 53,849




FA A=
33 MEASSH
o7l AESd (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 16,155
Al 37,695
03 Al 2 0HHI 781 806 VAVES)
O39=ItRI| 20l 781
= 391
< 17
Al 273
ZUHRXE 66,614 134,316 N67,702
= 357
< 19,877
Al 46,380
401 AIZHIZL SO 66,614 134,316 AN67,702
= 357
== 19,877
Al 46,380
01 Al&HI 65,993 132,978 A\66,985
O2U222! %2 (%ha)
12,276,000 *98.92% 12,144
= 225
== 3,575
Al 8,344
OAHEITHBH L KI X 2 (Sha)
54,338,000& +99. 1% 53,849
= 126
== 16,116
Al 37,607
03 Al 20HHI 621 1,338 vavars
o2uRsd =g (2ha) 132
= 1
== 40
Al 9N
Ot THoH & X =2 (%ha) 489
= 5
== 146
Al 338
NS SstEd 104,085 208,172 104,087
= 52,042
== 15,613
Al 36,430
401 A2 HIRL R 0HbI 104,085 208,172 104,087
= 52,042
= 15,613
Al 36,430
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2A:
X XH -
o e

=aak

pvlpe
0l oU o
HB-
0x Jn A

oM &

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

01 A=l

OXIY9Este =8 (5ha)

03 A 2TH
OXIgE

==

t

o
P

2! (5ha)

toln

104,085,000 *99.28%

hoH

=

hoH

=

103,336

103,336
51,943
15,583
35,810

749
749
N
30
620

206,674

1,498

AT49

0¥
=
o
A
0x

hoH

=

603,670
322,870

84,240
196,560

805,091

A201,421

401 AIZHIZL 20

Mo

=

474,070
236,470

71,280
166,320

675,491

A201,421

01 A&l
OZHME =4 (110ha)

03 A& S CHYI
OZHME =4 (110ha)

474,070,000& +99.83%

Mo

=

Mo

=

473,265
473,265
236,068
71,160
166,037
805

805

402

120

283

671,236

4,255

A197,971

A3,450

402 SI2EXH=201 S

Mo

=

129,600
86,400
12,960
30,240

129,600

(01X THL)

=
OE24 2 SSEXXE(20h)

Mo

=

129,600
129,600
86,400
12,960
30,240

129,600

hoH

136,760
61,760
22,500
52,500

134,820

1,940

401 AIEHIZ 20

136,760

134,820

1,940




FA A=
mu: pARIASE(
o7l AESd (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 61,760
=S 22,500
Al 52,500
01 Al 135,776 133,850 1,926
OUists=& =& (10na)
136,760,000 *99.28% 135,776
= 61,318
S 22,353
Al 52,105
03 Al 20HHI 984 970 14
OUist=& =& (10na) 984
= 442
= 147
Al 3%
AEASIEEY 1,286,445 1,104,638 181,807
= 431,991
= 309,147
Al 545,307
YA 2el 10,000 10,000 0
301 EetE NS 10,000 10,000
11 #AIAHIXIE S 10,000 10,000
O H=AHA H=UHa EIot2e
90,0002 20 1,800
OdH= A Het=s=Ual Bot2a
60,0002 %50% 3,000
OARIZLDAST IR &I
100,000& x20H 2,000
Ozed - 48yl usE IIEH
40,0002 «40E <23 3,200
ool st AMX BEZ(EX) 14,338 14,400 AB2
= 2,868
Al 11,470
201 Ler=23 | 14,338 14,400 AB2
= 2,868
Al 11,470
01 AtR2t2|HI 14,338 14,400 AB2
Ozl tae A=K 14,338
= 2,868
Al 11,470
LASAZIXA(EX) 130,495 119,045 11,450
= 52,197
=S 39,149
Al 39,149
307 21201 & 130,495 119,045 11,450
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FA A=
mu: pARIASE(
Belr AEASIIERY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ozlatd Pat=E T2 26,120
= 18,284
== 3,918
Al 3,918
A SHAMER(EX) 537,500 303,400 234,100
= 215,000
== 161,250
Al 161,250
402 2I2E X201 & 537,500 303,400 234,100
= 215,000
= 161,250
Al 161,250
02 BIENZASEZ(0IETHR) 537,500 303,400 234,100
Ot 2 S UAMEHK] (A M) 537,500
= 215,000
= 161,250
Al 161,250
SAEASEHE MO X2 67,500 67,500
402 2I2F X201 & 67,500 67,500
01 I SASE X (RHMITHR) 67,500 67,500
OXTHLIZ THEHRI 2 Ate)
3,000,000 *207H 2= +50% 30,000
OFE MHHXIZ AL
7,500,000 *107H 2= %50% 37,500
ARHASHES HOHHA XJAY 50,000 50,000 0
402 2IZtA=01d 50,000 50,000
01 QI XHZ AL E R (K THE) 50,000 50,000
O=RJIBAI #BIE XI&
2,500 *8, 00000 x55 I H50% 50,000
dE52UF N5E SESAMY 38,000 38,000 0
402 BIZtAH=01 A 38,000 38,000
01 QIZIXH2 AL 2 (KM TH ) 38,000 38,000
O = datsIt SN FedlE N&A
200,000 305 I++50% 3,000
OZU= ditsot 248 £XHIE N
7,000,000 (S & )*10=IH+50% 35,000
L2 WA 24 K2 60,000 60,000
402 2I2FXH=201H 60,000 60,000
01 IR SASE X (XHMITHR) 60,000 60,000
OnZa sit 34 X
2,000,000 * 15 J++50% 15,000
OL=z4 st =M A&
9,000,000 *10= I H+50f% 45,000
LHMEM 12,620 0 12,620
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FA A=
mu: pARIASE(
Belr AEASIIERY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,620
201 er23y| 12,620 0 12,620
= 12,620
01 At2teltl 12,620 0 12,620
Og M SAXNTANSAIY 23] 12,620
= 12,620
SHUHMRXEH 5,146 10,643 ADb,497
S 1,544
Al 3,602
301 LEtE NS 5,146 0 5,146
= 1,544
Al 3,602
14 IIEt2 8= 5,146 0 5,146
Oggol A= JtFotE X 5,146
= 1,544
Al 3,602
=R g gakel 58,668 109,664 A50,99%
= 29,334
S 20,534
Al 8,800
F0ls WS2H(EX) 58,668 85,998 N27,330
= 29,334
= 20,534
Al 8,800
307 elzto| & 58,668 85,998 A27,330
= 29,334
= 20,534
Al 8,800
05 2IHRIE S 58,668 85,998 N27,330
OROt= Ws=2Y 29,334,000& =2 58,668
= 29,334
[ 20,534
Al 8,800
St =3 116,299 140,647 A24,348
= 91,379
& 7,275
Al 17,645
SHEOHE FRIXA(EX) 109,125 133,340 N24,215
= 84,875
s 7,275
Al 16,975
402 2I2FXH=201H 109,125 133,340 N24,215
= 84,875
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2H: MESTD
M MEMEDSE 2
CHel: WMSHIMHISE 22l 2 29 (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
ETEERE,
78,880& 1 . 5x2H %45 x 12 11,359
A2 E 44 174,000& *11.5% 5,081
201 LEH2AHH| 433,625 401,857 31,768
01 AtR2t2lbl 149,215 131,847 17,368
ONMgo=z2d 29 20,000
OZHAIAE UEs 22X 2L
40350, 0000H 2,000
OEAIAE 222 S
220,000+ 12& 2,640
O=8 2EH HE 2002 *50,000&¢ 10,000
Of01HH| 249 440,000 x 128 5,280
OME02F X120l EH 2
85,0002 x4 =2 CH+63] 4,080
OTA& A 223 5 7Y
400,000& x 128 4,800
OFAIZ ARZ HEZH 442
215,000,000& *3. 5% 7,525
OHFZLD| LXt2(50H)
40,000& *5CH*12& 2,400
Odldl X2 (12C0H) 20,000& *12CH*12& 2,880
OLLd3IE =H 15, 0002 x22ton*23| 660
OSe3a=A(50m) 12,000& *50 m* %23 1,200
OFAIZ 2ZAl8 ZHDA
4,000,000 *13] 4,000
OuLre AT &3 HA(100m)
15,000& *100m* 1,500
O&EAIZE & 300,000 *43| 1,200
OZ2e= (o= 2d, =2 2¢)
150,000 4« 18 10,800
O&AIZ EAH| 28,800
HAIZE QR
60,000& *4H x5« 122 14,400
EENEREY]
60,0003 x2H+52 « 122 7,200
=YAlA =AH|
60,000& x2H x5« 128 7,200
OLx=XelAld 22l 89|
400,000& x 128 4,800
Ogbt4=-2Y| 10,000
OCCTV &= 487 5003 x12& 5,850
HEZHMEINEE E2Z4 HE S 10,000
OTAIZ A2 =8 XY
1,000,000 x4 4 A~ 4,000
OFAE AL2=X SSHI(HE , ELH)
8,000 & 6=+ 100 4,800
02 S32Z| 176,410 162,010 14,400
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FA AE=s
M MEMEDSE 2
el USRI NS 22 ¥ 29 (SH9 H2)
SH - HE - BR(8) - ARAY - BaR ofl &t e DS
OmJloHTel Ha+4+8
900,000& * 128 10,800
O8AIZ &Jle=s 12,000,000« 122 144,000
ORFUIAE N WFE HIIAIE FIIZA
470,000 %12 470
OA% SEEUFAY
1,050,000 #23 2,100
O&dAIZ AIEEE| RXIH| 10,000
OMSUIYEI DS R QIEY, LBIHS A
i=1=3 150,000« 128 1,800
Ozl |XIR2 DIl
270,000 122 3,240
ONTUAE WSS 2AcIXte H=t| 2,400
ONRFUHAUE TS 2c|XtE KA 1,000
ORFUIAE TS 2| 250 600
03 A2 I 108,000 108,000 0
Osg MEZzIY 2
54,000,000 »23] 108,000
202 04l 32,400 32,400
01 =LHAHI 1,200 1,200
ONSUZdEf s 298 X0 1,200
02 M0 31,200 31,200 0
ORFUIAEHNFE 22X
200,000 x13F 128 31,200
206 M=Hl 24,490 24,490
01 MHZH| 24,490 24,490
getzs & ZaiFiU P2
500,000& 12 500
OgaisyM s F& 500,000 %43 2,000
Ox=Z=% |, Hlg 7¢
1,000,000& %12 1,000
OFHl XA(R, &, X 9 8) 7 2,000
OUI=D1, &I, ESH S JI1H |F +
= 1,000
OtANSd= BERA B2 2
500,000& * 107K 5,000
O&AIZ 224 HIIES A 7L 2,000
O&TAIZ JIHANEES I 2 3,000
OLAE+ZE S1E M=M 2
17,0002 »270H 4,590
Os= Mz ¢ 200,000& * 128 2,400
O=s0I8 g2x(201¢) 7Y
20,0002 +50H 1,000
401 Al HIZL 01| 86,000 67,000 19,000
01 A&l 86,000 67,000 19,000
ONTUAEH WSS A2 S22+ 39,000




FA A=
T WSORIMEDSY 29
ChSl: MMM DS 22 ¥ 2 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONFU2t HEfUSZHAIZ S SARAI2
| 47,000
BEUHIEH UNEY MEFSALE 22 & =29 243,034 247,812 N4TT8
101 @1A4H| 168,244 185,702 2,542
04 JIZtNZ22 XS 2+ 158,244 185,702 2,542
O&FAzte oFY 34,039
Es 78,8803 x1H 246 19,405
rEsdsd 78,8808 1 +692 5,443
] 78,8803 *1.5+1H 48 5,680
AH=EE 30,528,000& *11.5% 3,511
OdtgEXlRr 28 28 22 57,646
J2S(MEXKXTAL
110,0003 x2EH 183! 40,260
rEsdsY 110,000 x2& »52 11,440
AH=EE 51,700,000 *11.5% 5,946
Oosgael g 66,559
JlEa 128, 1803 x2H 183 46,914
e 192,270 =2 » 12 4,615
- mrEsdsd 59, 1602 x2& »69 8,165
AH=EE 59,694,000 *11.5% 6.865
201 2= 70,790 72,110 1,320
01 At22t2l] 27,100 29,020 21,920
OMRES € SAPI BEH 7Y
1,000,000& %12 1,000
OFx S &4cIs8S 7
400,000 12& 4,800
OFStE +={(8ton) 15,0002 +8ton*22 240
OF==D| AX=(1TH)
50,000~ 1CH* 122 600
Ovldl Xtz (7CH) 20,000 »7CH= 128 1,680
Odgt+==H| 3,000
OEcloteA 157 FY
200,000 «9M E 1,800
OMEFLAE 0182 JIEZH =8 1,700
OMEZ2ZAIE & 200,000 43 800
OMEFZAE R01BHl E4
220,000 x 122 2,640
O2=XclAld 2S4Sl
320,000 * 122 3,840
Ot xlIs 28 2
500,000 x102 5,000
2 s5=34l 43,690 43,090 600
Oodgta | i3
350,000 * 12 4,200
(OFSPIEeE= 2,800,000& 128 33,600
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A AE=sIID
M MCIAMEDRE 29
Chel: MR DSE 22 U 2 (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O&dt=E 22 100,000& x 123 1,200
OLPGIFA (B0kg/S) +¢& 850
O, eligy o8z 40,0003 «8=* 128 3,840
401 A& HILS0HY| 14,000 20,000 A6,000
01 AlEHI 14,000 20,000 26,000
ONESZAE X2
14,000,000 * 14! 14,000
ME 22 2RX 22 & 23 128,358 127,831 527
101 2124 d| 66,198 65,671 527
M IIRINZ2Z2XsSEs 66,198 65,671 527
O&aaZ| 22 34,039
2= 78,8303 *1H 246! 19,405
FeEsdsY 78,8803 *1H+69! 5,443
s2RsY 78,8803 *1.5%x 15 48 5,680
4THEE 30,528,000&*11.5% 3,511
Oo2gac|d ey 32,159
J|lE2s 128, 1802 x 15 %183 23,457
- FU2R2Y 192,270@x1H x 12 2,308
sEsdsY 59,160 12«52 3,077
4THEE 28,842,000& *11.5% 3,317
201 B2 AY| 62,160 62,160
01 A=R2teld| 30,480 30,480
ozzE 7 200, 0002 20K € 4,000
Ox4 £ B2BE 7Y
400,000& *12& 4,800
O&=2D| U= (7CH)
50,0003 «7CH*12& 4,200
Ovldl LXZ(7TH) 20,0003 «7CH* 123 1,680
O=E cEH 8 NE 2,500,000 43| 10,000
Oget=2H| 5,000
O=sEAld 2¢$A 200,000& %43 800
02 32| 31,680 31,680 0
O&IILS 400,000 *6IH A+ 122 28,800
O, elgy o182z 40,0003 6=+ 128 2,880
=000 ZBEE 22| & 2H 71,119 62,030 9,089
101 21241l 34,039 33,040 999
M IIRINZ2Z2XsSEs 34,039 33,040 999
O] 22 34,039
JlE22 78,880% *1H 246! 19,405
meEsdsY 78,880 * 1«69 5,443
e R 78,880 *1.5x1F «482 5,680
A2 30,528,000& *11.5% 3,51
201 L2 AH| 37,080 28,990 8,090
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FA A=
M MEMEDSE 2
ool HEHAMHuSE 22 & 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 10,480 10,240 240
04 S 22I8E 7Y
320,000 x 122 3,840
Odgt+=H| 1,000
OBEE =exeAlE 2|
150,000& »12& 1,800
O2=+XclAIE 2| ESH]
320,000& 122 3,840
02 S3=gl 26,600 18,750 7,850
OdIIR3 1,000,0002 * 12& 12,000
OLPEILA (20kg/E) 72 40,0002 240S 9,600
OHBE 472 SN2+
5,000,000 * 14 5,000
SN NS HSHOIEAIAE 22l & 29 196,254 185,197 41,057
101 @124H| 75,682 73,625 2,067
MU IIRIMZENSES 75,682 73,625 2,057
OYUSHIOLMEAIE 22018 22Y 75,682
= 78,8802 x3&H*183L 43,306
FeErdsE 78,8803 3 52 12,306
] 78,8803 *1.5+3& *30 10,649
AHEE 66,261,000& *11.5% 7,621
H2RE AS=(5t=3E, S53Y)
150,000 4 &£ +3H 1,800
201 et 3| 43,440 43,440
01 At22t2l] 38,440 38,440
OouzZ=RE Mgzz1d 23 5,000
ONZRE FoFH E4
80,000& * 122 960
ouzZ=E 34 83 s 7
200,000 * 122 2,400
OF==D| AX=(1TH)
50,000~ 1CH* 122 600
Ovldl &xt=(3CH) 20,000 »3CH =128 720
OlZFRE 2+33tx =
15,0002 +8ton*22 240
ONRRE AIFES (0= 22, S5 22)
150,000 4 &£ +2&H 1,200
OlZRE 2eXelAl& el SHH]
360,000& * 122 4,320
OUZRE =2Ab 183
300,000&* 122 3,600
OlZFRE HAlE MEES 7 9,400
2B (A=S, 2HIY, 5IH S)
20,0002 *30E*42] 2,400
- SHi0lA (22, B4, 2310 8)
40,0002 100t *43] 1,600

_32_




SA: MRSXID
Hu: WUSIMHDSE 29
CHol: WECIMEIDISY B2 Y 2% (ol a2
% = S[E|
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
- S2SSH(ZEH, A5IE S)
20,0008 25%+63] 3,000
- SIIA(CITHH, AIOIE, A32H S)
20,0008 x205+63] 2,400
ON2FE BAIZ BASE 2L 8,500
DEH(4E, 250/H, FAYE )
10,0002 +505 63| 3,000
SHIDI&(BDIH, S0, YZ S)
100, 00024 #55+25] 1,000
SHESY(SXBRUEE, S+EUE
=PIy 18,0002 x255+63] 2,700
SWIIM($E, M4SN, LREY S)
30,0002 +20%+33] 1,800
ONI2RE MAIME HE SEPY (LY,
=0 S) 30, 00081255425 1,500
2 22 2| 5,000 5,000 0
ON2FE AlLEH S| 5,000
202 Ot 2,000 2,000
01 2LH0H| 2,000 2,000
ON2RE FAMS(ZE, HE) ol 2,000
206 MEHl 3,132 3,132
01 Ml 3,132 3,132
ON2RE FAI2 20l 2| 20,040
- DBL(DIWR|, YOI, LY 5)
21,0002 205+ 122 5,040
- SHOIA (ol M2l 3 S)
54,0002+ 105+ 122 6,480
S4S2A(NE)), DY, ML S)
15,0002 x305* 122 5,400
2l (LSERE, M2, AE20|
=) 13,0008 +205 128 3,120
ON2FE BAIZ 22IBE 2L 16,092
- DEA(JEIMAA, EL2IMAM S)
19,0002 +20Z+ 123] 4,560
SHHDI&(S2I2], AOFEA S)
46,0002 <105+ 123] 5,520
S2ESSY(SXBLUEE, SFEUE
| 5) 15,0002 +305+ 123] 5,400
- 200I& (HEI2I0H, SERA S)
1, 7002305+ 123] 612
401 AlE£HI L2 O] 39,000 39,000
01 Al&Hl 39,000 39,000
Onled(dEH, HEny) N2 24(F
01 0] &) 39,000
BH2IALI (M=) 37,380 37,620 240
| =2 (A =X ) 37,380 37,620 240
BEETREEED) 37,380 37.620 240
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